
T41-0200-02 510 mm BARREL

T41-0300 BOLT

T41-0500 TRIGGER GROUP

T41-0100 RECEIVER

T41-0400 POLYMER STOCK

T41-0700 TRIGGER GUARD

T41-1000 SHORT MAGAZINE

P

SCALE:1:2 SHEET 1 OF 9 A3

ASSEMBLY NAME:

2020/09/23
DATE:

TAC-41 POLYMER

ASSEMBLY #:

T41-0000-PA A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



T41-0200-06 330 mm BARREL

T41-0300 BOLT

T41-0500 TRIGGER GROUP

T41-1100 ALUMINIUM FOLDABLE CHASSIS

T41-0100 RECEIVER

T41-0600 LONG MAGAZINE

A

SCALE:1:2 SHEET 2 OF 9 A3

ASSEMBLY NAME:

2022/01/21
DATE:

TAC-41 ALUMINIUM FOLDABLE

ASSEMBLY #:
T41-0000-AA A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



T41-0102
M4X8 ISO4762

5mm BALL PLUNGER

M4X8 ISO4762 T41-0101

PIN M4X10 ISO8734-K

T41-0103

M6X16 ISO4762

SRS-010018

BEARING 4X10X4

M4X8 ISO4762
PIN4X12 ISO8734

M4X8 ISO4762

T41-0501
M3.2 DIN6799
T41-0508
BEARING 4X10X4
T41-0508
M3.2 DIN6799

5mm BALL PLUNGER

T41-0509

M3X16 ISO4762
T41-0504
T41-0503

M3.2 DIN6799
T41-0505

M3X16 ISO4762
T41-0504

Oring 4x2

T41-0502
Oring 4x2

T41-0506

M4X8 ISO4762

T41-0507

T41-0500
TRIGGER GROUP

T41-0100
RECEIVER

M4 ISO4032

SCALE:1:1 SHEET 3 OF 9 A3

ASSEMBLY NAME:

2020/09/23
DATE:

RECEIVER & TRIGGER GROUP

ASSEMBLY #:

T41-0100 & T41-0500A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



M5X6 ISO7380-2
T41-0202

ORING 8x2

4 mm BALL PLUNGER

T41-0225

T41-0224
T41-1008

HOP-116001

Oring 8x2

IB-60505100100

M4X8 DIN7991

T41-0206 T41-0205 SRS-020036

SRS-020008

T41-0306
Oring 18x1

T41-0307

4 x PIN 4X6 
ISO8734-K

3 x 5 mm BALL
PLUNGER

T41-0304

T41-0301

PIN 4X12 ISO8734
M4X6 ISO4762

M6X6 ISO4026

M6X30 ISO4762

T41-0302

T41-0303
T41-0311
M8 ISO4032

SPR-30XX

M4X8
DIN7991

T41-0309
F7-13M

T41-0310

T41-0308
SRS-070002

SRS-070003
SRS-070004

T41-0204

T41-0305

T41-0200 (T41-0200-02 & T41-0200-06)
510 & 330 mm BARREL

T41-0300
BOLT

T41-0239

T41-0203

M3X6 ISO4762

T41-0300-04

Sping type depend import 
requirements, and may varies:
with 510 mm barrel: SPR-3075 (*)
with 330 mm barrel: SPR-3090 (*)
* Japan, Italy, Ireland: SPR-3040

T41-0201

IB-60503300100

T41-0246
510 mm BARREL ONLY

330 mm BARREL ONLY510 mm BARREL ONLY

330 mm BARREL ONLY

SCALE:2:3 SHEET 4 OF 9 A3

ASSEMBLY NAME:

2021/08/20
DATE:

BARREL / BOLT

ASSEMBLY #:

T41-0200 / T41-0300A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



M6X50 ISO4762

T41-0407
T41-0405

T41-0406

M6x25 D type

T41-0404
M6X50 ISO4015

T41-0403
M5X12 ISO4762

T41-0801
T41-0802

T41-0411
T41-0409
T41-0402

M6X16 ISO4762

M6 ISO4032
T41-0410

T41-0408
M6 ISO4032

T41-0412

¼''-20 X ½ X ½ T41-0404
T41-0403

M5X12 ISO4762

T41-0401

T41-0701

PIN 4X12 ISO8734

PIN 4X30 ISO8734-K
T41-0703

T41-0702M6X20 DIN7991

T41-0400
POLYMER STOCK

T41-0700
TRIGGER GUARD

T41-0707
T41-0706
T41-0705

SCALE:2:5 SHEET 5 OF 9 A3

ASSEMBLY NAME:

2021/08/20
DATE:

POLYMER STOCK & TRIGGER GUARD

ASSEMBLY #:

T41-0400 & T41-0700A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



T41-1132
T41-1105

M4X6 ISO4762

T41-1135
M4X6 ISO4762

M4X6 ISO4762

M3X6 ISO4762
T41-1111
T41-1106
T41-1111

M3X6 ISO4762

M6X20 ISO4762

T41-1107

M4X16 ISO4762
T41-1104

AT1-0602

M6X25 ISO4762
M6X45 ISO4762

T41-1105

T41-1126
M4X6 ISO4762

T41-0706

PIN4X12
ISO8734-KT41-0705

T41-0707

T41-1103
T41-1101
T41-1102

T41-1105
M4X6 ISO4762

T41-0701

PIN4X30 ISO8734-K
T41-0703

T41-0702

M4X6 ISO4762

T41-1100-08
ALUMINIUM CHASSIS

M6X20 DIN7991M6X20 DIN7991

T41-0700
TRIGGER GUARD

(INCLUDED WITH T41-1100-08)

SCALE:1:2 SHEET 6 OF 9 A3

ASSEMBLY NAME:

2022/01/20
DATE:

ALUMINIUM CHASSIS

ASSEMBLY #:
T41-1100-08A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



M6 ISO4032
T41-0408

T41-1117
T41-1118

M4X8 DIN7991
SRS-030005

T41-0407

T41-1119

M6X12
ISO4762

M6X20 ISO4015

M6 ISO4032

M6 ISO4032

T41-1112
M6X12 ISO4762

M4X40 ISO4762

T41-1124
T41-1125

M6X12 T41-1123

T41-1116

M10 ISO4032

T41-1127

M6X30 ISO4015
T41-1118

M6 ISO4032
T41-0408

T41-1114

T41-1110
T41-1131

M5X8 ISO4026
PIN6X25 ISO8734

M4X16 ISO4762
T41-1109

T41-1108

T41-1100-07
FOLDABLE STOCK

 T41-1100-01
HINGE

 (INCLUDED WITH T41-1100-07)

SCALE:1:2 SHEET 7 OF 9 A3

ASSEMBLY NAME:

2022/01/20
DATE:

FOLDABLE STOCK

ASSEMBLY #:
T41-1100-07A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



T41-1004
MDR-1809
MDR-1808

T41-1003

T41-1009

M6X16 ISO4762

M6 ISO4032

T41-1002

T41-1001

T41-1008

T41-1005

T41-1000
SHORT MAGAZINE

SCALE:3:2 SHEET 8 OF 9 A3

ASSEMBLY NAME:

2020/09/24
DATE:

SHORT MAGAZINE

ASSEMBLY #:
T41-1000A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



T41-0601

T41-0604

PIN3X27 ISO8734-K
PIN3X23 ISO8734-K

T41-0605

T41-0603
T41-0602

T41-0607
T41-1008

MDR-1808
MDR-1809

T41-0606

T41-0600
LONG MAGAZINE

SCALE:1:1 SHEET 9 OF 9 A3

ASSEMBLY NAME:

2021/08/20
DATE:

LONG MAGAZINE

ASSEMBLY #:
T41-0600A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1


